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DIPLOMA IN WATERSHED 
MANAGEMENT (DWM)  
Term-End Examination 

December, 2022 
BNRI-102 : ELEMENTS OF HYDROLOGY 

Time : 2 Hours     Maximum Marks : 50 

Note : Attempt any five questions. All questions 

carry equal marks. Use of calculator is 

permitted. 

1. (a) Define precipitation. Describe its different 
forms.  2+3 

(b) Define rainfall intensity and classify it. 

2+3 

2. (a) Explain rational method of peak runoff 
estimation. Write its assumptions. 3+2 

(b) Discuss the characteristics of different 
hydrologic soil groups. 5 

3. (a) Define water balance and write its main 
components. 5 
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(b) What is infiltration ? Write the factors 

influencing it. 5 

4. (a) What is groundwater flow and how will 

you determine it ? 5 

(b) Differentiate between field capacity and 

permanent wilting point. 5 

5. (a) Determine the change in groundwater 

storage in sandy strata with porosity of 

20% if water table rose by 2 metres. 5 

(b) Describe different channel parameters that 

affect channel discharge. 5 

6. (a) What do you understand by head loss due 

to friction in a pipe ? Determine its 

different components. 5 

(b) Describe the importance of raingauge 

network. Give raingauge density 

recommended by WMO for different 

regions. 5 
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7. (a) Describe ‘tipping bucket’ type of rain  
gauge.  5 

(b) Compute discharge of a water source, if  

0.8 m depth of water is filled in a 
cylindrical tank of 1 m in 90 seconds. 5 

8. Write short notes on any four of the following : 

      4×2.5=10 

(a) Current meter 

(b) Antecedent moisture conditions 

(c) Evaporation 

(d) Mass curve 

(e) Wetted perimeter 

(f) Best hydraulic section 
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      BNRI-102 

tylaHkj izcU/u esa fMIyksek dk;ZØe  

(Mh- MCY;w- ,e-) 

l=kkar ijh{kk 

fnlEcj] 2022 
ch- ,u- vkj- vkbZ--102 % tyfoKku ds rRo 

le; % 2 ?k.Vs     vf/dre vad % 50 

uk sV % fdUgha ik ¡p iz'uksa ds mÙkj nhft,A lHkh iz'uksa  
ds vad leku gSaA dSYdqysVj ds iz;ksx dh vuqefr 
gSA 

 

1- (d) vo{ksi.k dks ifjHkkf"kr dhft,A blds fofHkUu 

:iksa dk o.kZu dhft,A 2$3 

([k) o"kkZ dh xgurk dks ifjHkkf"kr dhft, vkSj bls 

oxhZÑr dhft,A 2$3 

2- (d) viizokg dh loksZPp nj ds vkdyu dh 

vkuqikfrd fof/ dh O;k[;k dhft,A bldh 

ekU;rk,¡ fyf[k,A 3$2 

([k) fofHkUu tyfoKkuh e`nk lewgksa ds xq.kksa dh ppkZ 

dhft,A  5 
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3- (d) ty lUrqyu dks ifjHkkf"kr dhft, vkSj blds 

izeq[k ?kVd fyf[k,A 5 

([k) voNuu D;k gS \ bls izHkkfor djus okys dkjd 

fyf[k,A  5 

4- (d) Hkw&ty izokg D;k gS vkSj vki bldk fu/kZj.k 

fdl izdkj djsaxs \ 5 

([k) [ksr {kerk vkSj LFkk;h eq>kZu fcUnq esa vUrj Li"V 

dhft,A  5 

5- (d) ;fn ty&ry 2 ehVj Åij mB x;k gks] rks 

20% jU/zrk ds lkFk cyqvk irZ esa Hkw&ty ds 

Hk.Mkj.k esa gksus okys ifjorZu dh x.kuk dhft,A 

5 

([k) pSuy fuLlj.k dks izHkkfor djus okys fofHkUu 

pSuyksa izkpyksa (iSjkehVjksa) dk o.kZu dhft,A 5 

6- (d) ikbi esa ?k"kZ.k ds dkj.k 'kh"kZ gkfu;ksa ls vki 

D;k le>rs gSa \ blds fofHkUu ?kVdksa dk 

mYys[k dhft,A 5 
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([k) o"kkZekih ra=k ds egRo dk o.kZu dhft,A fofHkUu 

{ks=kksa ds fy, MCY;w- ,e- vks- ds }kjk vuq'kaflr 

o"kkZekfi;ksa ds ?kuRo dk mYys[k dhft,A 5 

7- (d) o"kkZekih ds ^fV¯ix cWdsV* izdkj dk o.kZu 

dhft,A  5 

([k) 1 ehVj O;kl vkSj 0.8 ehVj xgjkbZ okys 

csyukdkj VSad dks Hkjus esa 90 lsd.M dk le; 

yxrk gS] rks ty lzksr ds fuLlj.k dh x.kuk 

dhft,A  5 

8- fuEufyf[kr esa ls fdUgha pkj ij laf{kIr fVIif.k;k¡ 

fyf[k, %   4×2.5=10 

(d) /kjkekih 

([k) ,afVflMsaV ueh fLFkfr;k¡ 

(x) ok"iu 

(?k) ekl oØ 

(Ä) vkæZ@Hkhxk ifjeki 

(p) loksZÙke gkbMªkWfyd [kaM 
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